1. IZRACUNAJ !

1 + & = 0 + 7 = 1 = = 6
3 + 3 = 6 + 0 = + 4 =7
3 + 4 = 2 + & = + 3 = 5
5 + 2 = 4 + 2 = 2 + = 6
7 + 0 = 1 + 6 = + 0 = 7
6 - 6 = 4 - 3 = 7 - = 5
7 - 1 = 5 - 0 6 - 2
5 - 0 = 7 - &5 = - 4 = 2
7 - 4 = 6 - 5 = - &5 = 2
6 - 5 = 7 - 6 = 7 - = 4

2. KOJI OD BROJEVA 0, 1, 2, 3, 4, 5,6, 7 MOGU BITI X AKO JE:

X < 4 X = X > 4 X =

X < 2 X = X > 5 X =

3. KOJI OD BROJEVA 0,1, 2, 4, 5, 7 MOGU BITI X AKO JE:

X < 5§ X = X > 2 X =
X < 4 X = X > 4 X =
X < 7 X = X > 5 X =

4. UPIS| ZNAKOVE + ILI - DA JEDNAKOST BUDE TOCNA!

1 4 = 5 3 1 = 4 1 - 2
2 2 = 0 4 2 = 2 4 1 3
7 2 = 5 5 1 = 6 7 3 2
6 4 = 2 0 6 = 6 0 S 3
0 7 = 7 6 5 =1 5 1 1
5 1 = 6 7 3 = 4 3 0 4
“usLIVEWORK



